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Instructions To Candidates

Read the following instructions carefully before you
answer the queslions. Answers should be given on
a SEPARATE ANSWER SHEET:

1. Please write your Centre Code No. and Roll No.
very clearly (only one digit in one block) as given
in your Admit Card. No one block is left unfilled
and Zeros appearing in the Centre Code No. and
Roll No. the
appropriate blocks on the booklet and on the

are correctly transferred to
Answer Sheet. For example,

The student with Roll hlo. 7 appearing for
National Means Cum Merit Scholarship Exam
from Lucknow first Centre Code No. 0042 will

make entries as below:
State Code Year Centre Code Roll No. in Figures

B0 cccofoca

Your Centre Code No. and Roll No. shall remain the

same as given on your Admit Card.
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2 The test is in two pans. Each part has 80
questions.

3. All Questions carry one mark each.

4 Since all questions are compulsory, do not
spend time in reading through the whole
guestion paper before beginning to answer it.

5. Begin with the first question and keep on trying
one guestion after another till you finish it.

6. If you do not know the answer to any question,
do not spend much time on it and pass on to
the next one. If time permits, you can come
back to the questions which you have left in the
first instance and try them again.

7. Since the time allotted for the question paper is
very limited, you should make the best use of it
by not spending too much time on any one
question

B Blank pages have been provided for rough work
st the end of test booklets.

9. Remember, you have to mark answer on the
separale Answer Sheel

10.The Answer Sheet has two specific parts. Be
sure that on the (Part-l) GMAT (Serial No. 1 to
90) is to be answered. On the other (Part-11)
SAT (Serial No. 91 to 180) is to be answered.

1. Answer to each question is to be indicated by
wnting the number of the correct alternative in
the answer sheet in the box provided against
each question.

12.Immediately after 11/, hours(For Physically

Challenged group 2 hours) you stan doing
Part-lI(Scholastic Aptitude Test). How you have
o answer the question on that part is stated on
the latter part of the question booklet Part-||.

13.Now tum over Page and stan answering the
question.

M:Dommmvﬂungmmm&ntmcweuo., Roll No. and rough

& ot 5 o fafac
work, anywhere in the booklet.




GMAT - 2020

(@v=-1) (Part- 1)
AT AAAE Fagdr geTor General Mental Ability Test
| Gy go & 1 12 # g% & 9/ 9T &1 A Direction- In question no. 1 to 12 each question
has four terms. Three terms are alike in some
gz fardr & el 39 & ' @ & 3R 'F 9T 3= way. One term is different from three others. Find
St & Bt &, 3T @ BT 97 @) o Ak out the odd term and write its alternative number
o' on your answer sheet against proper question
F8% fadhed TEAT H 307 IF W H@EY W §E&Ar number.
& gEe A
Q1) Q1)
1) fegwr 2) FETEHT 1) Bihar 2) Lakshadweep
3) IaT-ueer 4) IIR@Us 3) Uttar Pradesh 4) Jharkhand
Q2) Q2)
1) 27 2) 125 1) 27 2) 125
3) 121 4) 216 3) 121 4) 216
Q3) Q3)
1) TRER 2) siey 1) Gorakhpur 2) Banda
3) &A@ 4) FTHAHIG 3) Meerut 4) Azamgarh
Q4) Q4)
1
) g5 2) TEQw 1) Mumbai 2) Dispur
3
) AT 4) IEHSEG 3) Agartala 4) Ahamadabad
Q5) Qs)
1) s
3) 2) THTE 1) Lady finger 2) Tomato
) 3 4) G sy 3) Potato 4) Cabbage
Q6) Qs)
1) KLP 2) BCF 1) KLP 2) BCF
3) CDG 4) FGJ 3) CDG 4) FGJ
Q7) Q7)
1) drar
s 2) e 1) Yellow 2) Black
4) #ar 3) Green 4) Blue
1) FreFar
_ 2) 1) Colombo 2) D
3) 0 haka
ik erfann 3) Karachi
4) Tokyo
NMMS 2020
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Q9)
1) e 2) Fer
3) forelr 4) FHA
Q10)
1) faray 2) A
3) Fgal 4) fEEF=
Q11)
1) 5116 2) 6177
3) 5127 4) 8135
Q12)
1) 2032 2) 2848
3) 5260 4) 8073

frder- 93 13 & 24 & v+ # IR ug ¥ THa
w & arll A 2T 9e A S FEaew ¥, 9 sEaey
t o SRl R & &Y 9eF A B UeAF U A U
U% oIt & I WRA & A B 7 ar fAwest
¥ UF g ¥ AFeT & @aet 396 9 qE@ar
HI FEI T2 HEAT & TFHE HT 3a¢ 99 9T
forfad-

Q13) 3R : T :: gUT ; ?

Q9)

1) Rose 2) Marigold

3) Lily 4) Lotus
Q10)

1) September 2) March

3) October 4) December
Qn)

1) 5116 2) 6177

3) 5127 4) 8135
Q12)

1) 2032 2) 2848

3) 5260 4) 8073

Direction-In question 13 to 24 there are four
terms in each question. The terms left to symbol
:: have same relation ship as the terms to the
right of symbol :: . Out of the four one term is
missing which is one of the alternatives given
below. Find out the correct alternative and write
its number against the corresponding question on
your answer sheet-

Q13) Rich: Poor:: Kind: ?

1) frd 2) 7o 1) Cruel 2) Patient
3) e 4) Frer 3) Beggar 4) Anger
Q14) S - 9z o Y - 2 Q14) Forest: Tree :: River : ?
1) m 2) 9gTE 1) Boat 2) Mountain
3) g 4) OFAw 3) Village 4) Picnic
Q151)) :1; THE : Hestl ; ? Q15) Saw : Wooq - Vegetable : ?
s j; g 1) Sgoon 2) Food
i 08 | 3) Knife 4) Shop
; m;f T ‘?2) ot Q16) Happiness Grief :: Hope - 7
kil i 1) Despair 2) Success
ol . 3) Father 4) Trail
: m. D HT :) . Q17) Winter - Sweater Hunger : 2
e, o ;: Food 2) Thirst
NMMS 2020 i
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e 3R
1) 144 2) 126
3) 152 4) 171
Q19) 457 : 140 :: 318 : 7
1) 27 2) 24
3) 48 4) 12

Q20) TSR : OPQ : MLK : ?

1) UK 2) VUT
3) HIJ 4) FGH

23y 117990297 7

[ 1) 272 2) 287
3) 170 4) 104

1Q22) KLMN : NMLK :: EFGH : ?

1) FGHE 2) GHEF
. 3) FGEH 4) HGFE
Q23) C18F : 324 :: B10E : 7
1) 64 2) 100
| 3) 225 4) 144
Q24) @ : s o #Her 2
1) HSF 2) v
3) ufg=r 4) 3rzay

I - e 25 @ 36 v ARwE F7 W 3maRE
g M RA 1 At A o wE R &1 S ()
¥ AT T §) TAF WA & A gN AFeur F
¥ Uw A g G W6 A A RY @ ¥ vlw
e & He ey Fa Ao 3 397 o5 &
30 NF & A AT AFey FEar # fRfaEa-

Q25) 1, 25, _, 121, 289, 529
1) 49, 361 2) 36, 144
3) 64, 400 4) 81, 225

Q26) 2,3, _, 15 26, . 62 85
2) 8, 40

Q18) W:92:8:7
D H

1) 144 2) 126

3) 152 4) 171
Q19) 457:140:318:7

1) 27 2) 24

3) 48 4) 12
Q20) TSR:O0PQ:MLK:?

1) UK 2) vuT

3) HIJ 4) FGH
Q21) 111102978572

1) 272 2) 287

3) 170 4) 104
Q22) KLMN:NMLK :: EFGH : ?

1) FGHE 2) GHEF

3) FGEH 4) HGFE
Q23) C18F:324 : B10E: ?

1) 64 2) 100

3) 225 4) 144
Q24) Fan: Electricity :: Car: ?

1) Road 2) Petrol

3) Wheel 4) Driver

Direction- Question no. 25 to 36 are based on
definite series. In given question some symbols
are missing shown by (-). The missing symbols
are given in proper sequence as one of the four
alternatives given under each question. Find out
the correct alternative and write number on the
answer sheet against the question number-

Q25) 1,25 _, 121,289, 529
1) 49, 361 2) 36, 144
3) 64, 400 4) 81, 225

Q26) 2 3,_, 15,26, 62, 85

1) 7, 36 1) 7,36 2) 8, 40
3) 8, 43 4) 9, 31 3) 8,43 4) 9, 31
NMMS 2020

Contd.



15, _, 48, 144, _
Q27) 1, 4, 12, 15, _, 48, 144, _ bl dnge s o
2) 30, 14
1) 45, 147 2) 30, 149 1) 45, 147 )
3) 18, 288 4) 60, 432 3) 18,268 D
Q28) 1.4, 10, . 31,46, , 85 Q28) 1.4,10,_, 31,46, _, 85
1) 17, 61 2) 19, 64 1) 17,61 2) 19,64
3) 20, 65 4) 18, 92 3) 20,65 4) 18,92
Q@29) 0, 3, 12, 27, 48, 75, _, 147 Q20) 0.3,12,27,48,75, _, 147
1) 100 2) 104 1) 100 s
3) 108 4) 112 3) 108 ) 4
Q30) CDE, EFG, _, UK, _, MNO Q30) CDE, EFG, _, K, _, MNO
1) HIJ, LMN 2) HGI, KLM 1) HIJ, LMN 2) HGI, KLM
3) GIH, KML 4) GHI, KLM 3) GIH, KML 4) GHI, KLM
Q31) BS, CR, _, EP, FO, _, HM Q31) BS,CR,_,EP,FO, _, HM
1) DQ, GN 2) QD, GN 1) DQ, GN 2) QD, GN
3) GN, QD 4) RQ, MN 3) GN, QD 4) RQ, MN
Q32) B4, D8, _, K22, _, Va4 Q32) B4, D8, _ K22, V44
1) E10, Q34 2) G14, P32 1) E10, Q34 2) G14, P32
3) F6, N14 4) H8, L12 3) F6,N14 4) H8, L12
Q33) AA_CA BC_AB_ Q33) AA_CA_BC_AB
1) BACA 2) B
2 ) BAAC 1) BACA 2) BAAC
4) CABA
) 3) ABCA 4) CABA
Q34) N_TS NT NN S Q34) N_TS_NT NN S
1) N 3
) NSTN 2) NTSN 1) NSTN 2
. ) NTSN
) STNN 4) NNST
Q35) OP N
_NO_PN PP Q35) OP_NO_PN_pp
1) PPON 2) PONP 1) PPON -
3) PNOP 4) NPPO 3) p 2) PONP
NOP
Q36) 2, 3, 10, 15, 26, 35, 50, " 4) NPPQ
1 - 36) 2,3, 10, 15, 26, 35. 50
) 65 (s
2) 59 1) 65
3) 64 4 63 2) 59
3) 64
4) 63
.t L
NMMS 2029
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T DIRECTION- In question 37 to 48 there are
i vt 37 @ 48 F IRl & T E_ & equations that have become wrong due to wrong
wrror geat & FHEIOT A B T §| TedS g order of signs. Choose the correct order of signs
; from the four alternatives given below so the
¥ A an e T fwedt A F HEY FA ATl equations become right. Write its alternative
freel (Faewn) &7 o B, Fred adET number on your answer sheet against the
: : corresponding question number-
afr @1 A A FT7 9 7Y fdEed HEAr 3 -
| | WA HEdT & WAA 394 3AT U9F 9T
fafaa-
Q37) 32=4 -2+ 4 Q37) 32=4-2+4
{) ~= == 1) == e
| )= 4 +=- 3 = 4) +=-
Q38) 27=8-3x3 Q38) 27=8-3x3
1) +-= 2) = x + B 2) =x+
3) +x= 4) x = x 3) +x= 4) x=x
|Q39) 15x27 =22 -3 Q39) 15x27=22-3
)= s 2) = - x 1) =x= 2) =y
3) -x= 4) - = x 3) —-x= 4) -=x
Q40) 44 =2 x 8 + 11 Q40) 44=2x8+11
1) = = x 2) x =+ 1) =:x 2)x:+
3 + = =
)X 4) X 3) xsu= 4) - =x
Q41) 9 =8+ 27 x 45 Q41) 9=8+27x45
| 1 = -
) X = + 2) X + = 1) x=+ 2) x+=
| 3) =x+ 4) x = = =
‘ ) 3) =x+ 4) x = -
1Q42) 8 =6+ 144 x 3 Q42) 8=6:144x3
Risx# 2) = 1) =x+ 2) .=
ey - ) +=x
)+ x = 3) x== 4) +x=
43 + =
Q43) 14 x5 :210=3 Q43) 14x5:210=3
1) =X ¥ e
3) 2) =X 1) =% 2}::.x
o e 4)x=.;_ .
) (e
‘ 10 Q4d) 11+2=1-19
=4+ = p
) 2)~+= 1) =- 2) 4=
3) - =+ £+ A
B ~=+ 4) +-=
Q45) 1 =
) 15+3=5x50 Q46) 15+3=5x50
1) = 4+ X 2)x=4.
1) =+x o=
3) x + = 4) + x = i
3) x+= 4) +x=
NMMS 2020 7
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Q46) 93 4+ 7 =13 + 113
1) =+ + 2) - =+
3)++: 4):._+
Q47) 27x5=11-2
1) -x= 2) = x -
) X == 4)-:)(
Q48) 72 + 8 + 12 = 21
1) ++ = 2) =+ =
3) =+ + 4) + = +

frder- oo 49 ¥ 60 & X A 3-3 qAl § TN
¥e A 7§ 9AF ¥ F = A A 3w A
FE 7 A gEew 3 A RA T wA F adE
F 3-3 oree R A §| O 0w A FNS A Fg
FEaey 8| 39 At Aedl A S Wy § a8
FFEY 9 & 9Ol & hEr U ¥ § A @il
g 38 7 B ar RBFear & @ oifcd aur 39
oy @& F 30 99 W HIA WA HEdl &
FFa afaEE-

Qae) 93+7=13+113

1) =++ 2) =+

3) ++= 4) =+
Q47) 27x5=11-2

1) -x= 2) =x-

3) x-= 4) - =x
Q48) 72+8+12=21

1) ++= 2) =+ +

3) =++ 4) =+

Direction- There are four sets of three circles for
question 49 to 60. There is some relation with in
three circles of each set. There are three words in
each question which are related with each other
and also related to circle of any one set in same
manner. Find out correct alternative and write it
on your answer sheet against proper question-

-1 He-2 q7-3 Hc-4 Set-1 Set-2 Set
e | -3 Ser-4
.‘"J,-/:: \‘ //—;\\\ O 'D { /"‘-\\O R\\ fﬁ\ O Q ;:
((0)) (co0) C @) O - '
S/ N / O U \ (\J/)} (O o ] C‘ L ©)
._\k‘/ 4 1 -/ ll‘\ |
’ e SEs P ) A
49) diEd, FH, g9 Q49) Vehicle, Car, Bus
;) ::4 2) ¥z-2 1) Set-4 2) Set-2
) |2-3 4) Fe-1 3) Set-3 4) Set-1
Q50) ¢ I
) ;ZT AN, gH Q50) City, Market, Shop
1) #e-1
N 4) W—S 3) Set-2 4) Set-3
Q51) we, Far, h
e 4o Q861) Fruit, Banana, Brinjal
- 2) Ae-1
1) Set-3
3 Wed : 2) Set-1
= 4) fe-2 3) Set-4 4 Sors
et-
. :j'- farfsar, arer Q62) Fish, Bird, Horse
2) #e-4 1) Set-1
3. #52 4) #e-3 3) Set-2 8
4) Set-3
NMMS 2020
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'3) m. Ad, Eﬂﬁﬂ'
1) #e-2 2) ¥e-1
4) dolesy, #agre, s
1) ¥e-2 2) de-1
3) -3 4) dT-4
5) AT, FEYE, FHT
1) ¥e-2 2) Fe-1
3) ¥z-3 4) 4
56) &1y, 33Tel, Fe
1) -4 2) §e-3
3) T2 4) ¥e-1
57) ¥ra, Geeh, ara-fFar
1) ¥4 2) ¥¢-3
3) -2 4) He-1
158) S, TR, U3
1) Je-1 2) ¥qe-2
3) #z-3 4) IT4
259) T, 28y, e
1) #z-3 2) ¥4
3) #e-2 4) Fe-1
Q60) 3z, BfE, Hid
1) #e-2 2) #z-3
3) 4 4) Be-1

Fﬂu-mamé?z#ﬁmﬁmhm#
ﬁ:ﬁﬁamﬁlwmwmﬁwtﬁ#
mzﬁa(?)#mfrmmtnﬁwawmaaﬁﬁr
mnam%@ﬁ#uﬂﬁmmm
mmﬂmmwaﬁamamﬁ
aAe fafas-

Q53) River, Boat, Person

1) Set-2 2) Set-1

3) Set-3 4) Set-4
Q54) Calendar, Month, Date

1) Set-2 2) Set-1

3) Set-3 4) Set-4
Q55) Rice, Computer, Chair

1) Set-2 2) Set-1

3) Set-3 4) Set-4
Q56) Hand, Finger, Ear

1) Set-4 2) Set-3

3) Set-2 4) Set-1
Q57) India, Delhi, Red-Fort

1) Set-4 2) Set-3

3) Set-2 4) Set-1
Q58) Forest, Deer, Tree

1) Set-1 2) Set-2

3) Set-3 4) Set-4
Q59) Copy, Curd, Shirt

1) Set-3 2) Set4

3) Set-2 4) Set-1
Q60) Mirror, Image, Stairs

1) Set-2 2) Set-3

3) Set-4 4) Set-1

DEIRECTION- Question no 61 to 72 numbers are
placed in figure on the basis of some rules. One
Place is vacant which is Indicated as (?). Find out
the correct alternative for the vacant place angd

write its number against the proper question
number on your answer sheet-
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Q61) . B 5
" 14 7
3 22 4 3 2
1) 10 2) 25
3) 30 40
Q62) 3 1 8
6 5 ?
7 2 4 i 9
1) 22 2) 10
3) 20 4) 18
Q63) 36 28 44
12 16 31
24 12 ?
1) 74 2) 31
3) 13 4) 47
Qe 2 4 1 3 2 5
20 16 ?
6 85 WL 8%
1) 12 2) 62
3) 21 4) 26
QBS) S121] 2 7]113]| 6 8 123
1) 27 2) 45
3) 72 4) 4
Q66) =] = =
4 121 2 3 19|86 51711
5 0 2
i 2) 20
3) 17 4) 15
Q67) R 12 3
& 5 10 1 5
1) 1 2) 2
3) 3 4) 4
NMMS 2020 T

Qé1) 6 8 5
3 2T 4 3 2

1) 10 2) 25
3) 30 4) 0
Q62) 3 1 8
/NN LN
if 2 4 5 3 9
1) 22 2) 10
3) 20 4) 18
Q63) 36 28 44
12 16 31
24 12 ?
1) 74 2) 31
3) 13 4) 47
Qeey 704 =133 2..5
20 16 ?
it TR e S
1) 12 2) 62
3) 21 4) 26
i I B 21217 |13|6|]|s 3
gl 2) 45
3) 72 4) 4
Q66) 5 :
al2112||3lols]ls -
5 0
N7 2) 20
3) 17 4) 15
Q67)

2
1) 1

3) 3

10
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Q68) 5 2 AN
2 4 4| |5 3
al 7 [41158] ? |3 1 o g B )
3
7 8
2)0
2) 0 1) 2 "3
4) 3 Uy gl
4 9 5 Q69) 4 2 3
3 1 ?
3 L ! > 3 1 15
! =
§.%5° 288811 1 4 2) 2
1) 4 2) 2
3) 8 4) 6
3) 8 4) 6 . :
Q70) 10 1 b SiQ) A
5 12 7 00 0 - 2e Ty ’
12 21 1= ik
3) 7 44 N7 3
Q71) 2UEIEANEENE T Q71 ZEBELAEORE IR
5| |23 ? 5 23 F
51 S B3N 5 #3505 T4M0
1) 4 2) 13 4 2R
3 3 4) 7 3) 3 4) 7
Q72) 2 1 3 Q72) 2 1 3
/\ T /‘s\ 10 7 ?
10 2 5 1 9 4 10 2 5 3 9 B
1) 10 2)9 1) 10 2) 9
3) 8 4) 4 B8 ks
wrey & ROAD @I DAOR for@r | Q73) In a certain code language if ROAD is written
Q73) el il " as DAOR, what will be code of FISH in same
FAar & d 33 sy # FISH @ #ig F4r language?
£rm?
1) HSLF 2) HSIF 1) HSLF 2) HSIF
3) IFHS 4) ISFH 3) IFHS 4) ISFH
Q74) faer F1s ST 7 afE SUNDAY #1 DAYSUN Q74) In a certain code language if SUNDAY is
written as DAYSUN, what will be code of
forar Sar & a1 33 s # PARROT & #ig PARROT in same language?
F1 grm?
1) APRRTO 2) RROAPT 1) APRRTO 2) RROAPT
3) ROTPAR 4) TORRAP 3) ROTPAR 4) TORRAP
NMMS 2020 1
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Qrs)

1)
3)

Q76)

1)
3)

Q77)

1)
3)

Q78)

1)
3)

Q79)

1)
3)

Q80)

1)
3)

Q81)

1)
3)

el @y s & af TRUCK &1 RTUKC
fan smar & & 3¢ smar & CLOUD & #i3

&1 grm?

DUOLC 2) UDOCL

LOUDC 4) LCODU

fasedy @1z smar & afZ HOPE & OHEP forar
SATAT & ar 39T Hrar #& STAR &1 &3 F1
grm?

TSRA 2) TARS

RAST 4) TASR

fady 1z smer A A& SOLID Fr TPMJE
forar Srar g &t 3¢ $mar & TRUCK &7 &1
T BIam?

URVCK 2) USVDL

UVSLD 4) VDSLU

ferelr @1z smar 3 afE BROWN #f AQNVM
forar smar § & 39 st % HOUSE &t #is
F1 gm?

NGTDR 2) NTGRD

GNTRD 4) TRDNG

frdY 15 T 7 IfE FATHER & GZUGFQ

for@r Srar & ar 33 s F KANPUR & #13
&1 ghm?
QVOO0ZL
KZNouQ

2) LBOQVS
4) LZOOVQ

fbet 7 smer & afy CHILD @ EJKNF

forar smar & ar 3wy sor & HOTEL &7 #g
FT g7
IOUEM
JQVGN

2) HPTFL

4) JOVEN

FRHlr 12 amo & AR LiFE @ 32 forar s
?a’rmawﬁamkmrmma\m
10 2) 28

14 4) 26

NMMS 2020

Q75)

1)
3)

Q76)

1)
3)

Q77)

1)
3)

Q78)

1)
3)

Q79)

1)
3)

Qs80)

1)
3)

Qs1)

1)

3) 14

i i ' itten
In a certain code language if TRUCK is wri
as RTUKC, what will be code of CLOUD in

same language?

2) UDOCL
4) LCODU

DUOLC
LOUDC

In a certain code language if HOPE is‘ written
as OHEP, what will be code of STAR in same

language?

TSRA 2) TARS
RAST 4) TASR
In a certain code language if SOLID is written

as TPMJE, what will be code of TRUCK in
same language?

2) USVDL
4) VDSLU

URVCK
UVSLD

In a certain code language if BROWN is written
as AQNVM, what will be code of HOUSE in
same language?

NGTDR 2) NTGRD
GNTRD 4) TRDNG
In a certain code language if FATHER is written

as GZUGFQ, what will be code of KANPUR in
same language?

QVOOZL 2) LBOQVS
KZNouQ 4) LZOovQ
In a certain code language if CHILD is written

as EJKNF, what will be cod '
same language? i

IOUEM
JQVGN

2) HPTFL
4) JOVEN

g12 a vt::;tta‘ihr’\"::gge ladnguage if LIFE is written as
, code of i
ol BANK in same

10 2) 28

4) 26
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5 " BARK @' 5 far@r sirar | @82) In a certain code language if BARK is written
asz) e as 5, what will be code of FROG in same

1) 10 2) 46 1) 10 2) 46
3) 64 4) 18 3) 64 4) 18

Q83) et #1z smer # I NINE #t 8 f&rar sirar | @83) In a certain code language if NINE is written as
8, what will be code of SALT in same

& ar 3d smr #F SALT &7 FIg F4r gR? language?
1) 52 2) 25 1) 52 2) 25
| 3)3 4) 10 3) 3 4 10

|

Q84) e @z smar & IR GCFH #r 7368 fr@r | @84) In a certain code language if GCFH is writien
as 7368, what will be code of DABE in same
STaT & A 36 ST & DABE &7 &g &

language?
g
1) 1452 2) 4125 1) 1452 2) 4125
3) 5214 4) 1245 3) 5214 4) 1245
forder- W HEwr 85 ¥ 90 Fefaf@a uear W DIRECTION- In question no. 85 to S0 are based

on information given below. Options are given for

HURE 8l 9% 9 & A 30¢ & fov Reey answer below each question. Read the question

: carefully and write serial number of correct option
izﬁ Cip)| e ©are ofed 3y III@’ fa&eg : : 5
&l I & of: against corresponding question on your answer

& HH HEIT I W & FHA 3a¥ 93 9T sheet-
Information-
oEa- Sunil likes playing and reading. Bobby likes music,
FeTar- playing, reading and photography. Naresh likes
. music, reading and photography. Mahesh likes
gl & BT 3 Ggar o &/ aidt # T

music_: and playing. Sudhir likes playing and
I, GgaT T et gaee & a3 F T, dawig

9T T Bietardr gaeg 8 #pw @ A IR
AT gHee 8 N # erar I RFaRT 9572

&1
Q85) fhas T=HI F 7T GH=E B? Q85) How many boys like music?
1) 1 23 I | 2) 3
J) 2 4) 4 3) 2 4) 4
i Q86) fhae weal &1 FFsdy 78 gwee £? Q86) How many boys do not like drawing?
D4 2) 3 1) 4 2) 3
3) 2 4) 1 3) 2 4) 1
| Q87) TR YR F1 & ST gad H0F w5t ®@ Q87) Which type of work most of the boys like to do?
HwE 27
| 1) 9gaT 2) AT 1) Reading 2) Music
3) @erE 4) wreyamdy 3) Playing

4) Photography

13
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SAT - 2020
@z - 1)
(Part - 1)

dfers #fEsfr ofen

#aa: 1, goE quifE : 90
(urffw w9 & gt ava Ieafdat g9 2 aue)

gfenfdal & faw foder

1. 8% gdierr gfeder # 99 favg gt & g

g 9P Bl
() fasma 9. 91 ¥ 125
(@) amATSE Jeag qH, 126 ¥ 160

() aifore 9.H. 161 & 180

2. 98wy & geat & 3 A

3URE MAF AT RU A aR RFea &7
el fawea $ FEr AT F IA-99F 9T e
9 HEAT & gEaE fAfa)

4. 37F T AR Hfav

_—

SCHOLASTIC APTITUDE TEST

Time : 1'/2 hours Full Marks : 90

(For physically challanged group 2 hours)

INSTRUCTIONS FOR THE CANDIDATES

1. This test booklet consists of three subject
groups containing questions as following.

(a) Science Q.No. 91 to 125

(b) Social Studies Q.No. 126 to 160

(c) Mathematics Q.No. 161 to 180

2. Attempt all the question from every subject.
3. Find out the correct alternative from given
four alternatives for each question and write

its number on your answer sheet against
proper question number.

4. Please start your work.

o1 - 30 W IRTH A W FE F dfofEa w8 o 3o o )

N.B. - Do not write anything in the booklet except rough work,

NMMS 2020
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A
Q91) Raer e fFEer ATar &:
1) #Ag 2) glr
3) H&HFq 4) 91t
Q92) ‘gl AW HEF g
1) e 2) g
3) §HT 4) a9
Q93) f=faf@a & #iv &1 wdrea Rug &2
1) & 2) G AFT
3) gegAT 4) HrAsdr Hr sarer
Q94) eafey FaRa gt & waeh &
1) daa )z H
3) Aaa & 4) 39 H

Q95) TEIU ST WM F TS AT F & ITH T
B STt & &, aF Fegerar &

1) grexif 2) 9IRERY
3) Rt 4) 3areeft va g
arat
Q96) F=faf@a # & #lF a1 9o TS g &
1) TEcauor aa 2) =91 &
3) gradhg a9 4) TR d=a w9

Q97) UF FHRY ade # 3E 10 et ¥ AW
ZIoF 4 FHUE A FraaT 2Xe HLT-
1) 40 2) 25
3) 04 4) 20
Q98) e e #1 T e gdor av s¥erEag

HOfaq gt ¢, de qade ST @e-
1) 180° 2) 0

3) 90° 4) 450

Q99) AT aqor & ZIT @ wiaferw g i
1) areafas 2) 3srdr
3) Ieem 4) ey

Q91)
1)
3)
Q92)
1)
3)
Q93)
1)
3)
Q94)

1)
3)

Q95)

1)
3)

Q96)
1)
3)

Q97)

1)
3)

Q98)

1)
3)
Q99)
1)
3)

Science

Richter scale measures:
Time 2) Distance
Earthquakes 4) Speed
‘Light year" is unit of:

Speed 2) Distance
Time 4) Temperature

Which one of the following is an illuminated
object?

Sun 2) Electric lamp
Moon 4) Flame
Sound cannot travel in:

Gas 2) Liquid
Vaccum 4) Solid

The objects that allow the light to pass through
them partially are called:

Transparent 2) Translucent

Opaque 4) Both Opaque and

Translucent

Which one of the following is a contact force?

Gravitational force 2) Frictional force

Magnetic force 4) Electrostatic force

The frequency of a simple pendulum is 10 Hz.
Thgn Pendulum will execute how many
oscillation in 4 second-

40 2) 25
0.4 4) 20

When a ray of light incident normally on a
mirror, Then angle of reflection will be-

la
1800 2) o l
90v 4) 450
The image formed by a plane mirror is: Q
Real 2) Virtual
Inverted 4) Blurred

NMMS 2020
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One should walk carefully on a wet floor

0) va e Wl 9T WEUTAT qdeh dolel TIRT Q100)
0100) because-
Faife -
1) frar T ST ST 2) rer wel A Ty 1) Wet floor offers more 2) Wet floor offers less
friction friction
| e T & Ve FT &
| afrar o g 4) e oy e 3) Wet floor becomes ~ 4) Wet floor can give
3) gy
| rough electric shock
| ST & HETd T Hohl ¢
!0101) qfY UEiF SAGE 9T o9 are o # dga | Q101) Force per unit area is known as-
s
1) a9 2) AT 1) Temperature 2) Volume
3) a= 4) T 3) Pressure 4) Velocity
|
Q102) = # Sl 9 & THERE YgyS A&7 8- | Q102) Which of the following is not a chemical
pollutant of water?
1) e 2) Sfrareg 1) Pesticides 2) Bacteria
3) THEAS EE 4) qrT 3) Fertilizer 4) Mercury
Q103) T # ¥ Fi @ WA F O, & I §¥ | Q103) Which of the following gases reduces Oz
&TRaT & e carrying capacity of blood?
1) COz 2) CO 1) CO: 2) CO
3) NO: 4) SOz 3) NO; 4) SO;
Q104) wrEfds B 8- Q104) Natural fiber is-
1) @@= 2) A 1) Rayon 2) Nylon
3) Furg 4) TTelTuEe 3) Cotton 4) Polyester
Q105) forrsr & T34 arg 71T 8- Q105) Which of the following is not an alloy?
1) 957 2) T 1) Brass 2) Bronze
3) AT 4) FHA fBeax 3) Chromium 4) German silver
.‘0106) s & ot = azw MR- Q106) Which of the following is a green house gas?
1) N 2) SO; 1) N2 2) SQ2
. 30 4) CO; 3) Oz 4) CO;
\
{0107) I AT AT & g B- Q107) The chemical formula of Baking Soda is-
¥ 1) NaCl 2) NaHCOs 1) NaCl 2) NaHCO;4
3) NaxCO; 4) NaOH 3) Na:COs 4) NaOH
Q108) rsfafag HA T g & Q108) Which of the following Iis non metal?
1) Na 2) Fe 1) Na 2) Fe
3
B 4) Mg 3 C 4) Mg
|
NMMS 2029
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Q109) zga wfka # Fia #r g FEaE 87

Q109) Which gas support combustion process?

1) N 2) Hz Y. 9 A
’ 4) CO
5 O2 4) CO; 3) O AR
Q110) arFaTEe §- Q110) Bauxite is:
1) Ag:S 2) Alz0; 1) AgzS 2) Al2Os
3) Fes0s 4) ZnCOs 3) iFex0s 4] 2nees
: ' d
2 z Q111) The valency of metal M in the compoun
Q111) #fF My(POs), & &g M Fr FASHAT & My (PR Io
1) 3 2) 2 1) 3 2) 2
3) 1 4) 373 & P& AF 3) 1 4) None of these
ible for Ozone layer
I O Q112) The compound responsi
Q112) 3 S &Ror & fo saverdr & e on i
1) FARGART FAT  2) FEHT 313 HIFATS 1) Chlorofloro carbon  2) Sulphur dioxide
3) FEA Al HFABS 4) FAA 3T HFASS 3) Carbon monoxide  4) Carbon dioxide
- i i Id
fATaTad #®s fgar & | Q113) Which of the following metals reacts with co
Q113) A & Hia |1 ug water more vigorously?
&v2 o H fomar Fear B-
1) Ca 2) Mg 1) Ca 2) Mg
3) Na 4) Ba 3) Na 4) Ba
Q114) Taef@a #§ 4 999 F7 3587 719 aer Q114) From among the following fuel having minimum
PRI calorific value is:
1) @3 2) Aed & aw 1) Wood 2) Kerosene oil
3) A= 4) grEsia 3) Methane 4) Hydrogen
Q115) %1 (97 &7 dEF BT - Q115) Which one of the following is vector of dengue
disease?
1) TS 2) AET UATRRwTST 1) Adese 2) Female anopheles
3) uie A 4) FiHia 3) House fly 4) Cockroach
Q116) @WYdar el &- Q116) Weedicide is-
1) e 2) "EEIFEHT 1) Auxin 2) Cytokinin
3) 24-D 4) 9g%aT 3) 24D 4) Pyruvate
Q117) a1 F1F R SREs $r 71 Q117) Ganga Action Plan was launched in-
1) 1981 & 2) 1985 & 1) 1981 2) 1985
3) 1972 & 4) 1988 # 3) 1972 4) 1988
Q118) Fmafafad & & #f7 ar g fawoy aeTA€r | Q118) Which one of the following disease is not
gar 2- caused by virus-
1) A 2) @E 1) Polio 2) Measles
3
m: =T 4) &7 3) AIDS 4) Tuberculosis
MS 2020 18
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L. 19) ',.U.l’f:?'ﬂ&ﬂ AA m m W CTRTT
|

Q119) In which of the following organisms cell wall is

= present-
1) 3 2) dyrArfeas 1) Amoeba 2) Paramecium
| 3) gFelen 4) TS 3) Euglena 4) Spirogyra
10120) 99%F & & & @t farae - Q120) Who discovered the vaccine for small pox?
II 1) @% e 2) UzES SR 1) Louis Pasteur 2) Edward Jenner
| 3) TEE H 4) FIFAST FATH 3) Rabert Koch 4) Alexander Fleming
q121) Pefaf@a # & fFad Agaa 2171 voreie Q121) In which of the following organisms
| ; reproduction take place by budding-
| gl B-
1) AT 2) AcH 1) Earthworm 2) Frog
3) gEgl 4) AT 3) Hydra 4) Fish
Q122) f&w Ty 31T S=gfee gTHfeT @1 @aor glar | Q122) Which gland secretes insulin hormone-
g-
1) UTANEs 2) Ay 1) Thyroid 2) Pancrease
3) TSI 4) gy 3) Adrenal 4) Pituitary
r0123) Us 2O TSIH WA FTET aUEE dAod & Q123) Atadpole develops into an adult frog by the
Rt 21T ¥, a8 & process of-
1) s 2) FHIATALOT 1) Fertilization 2) Metamorphosis
3) ot 4) HGolel 3) Embedding 4) Budding
F}M) a9 ggo fore Taaurdl Siwg 1 FAifea F1 | Q124) First of all cloning is done in which mammals-
-
1) FF& 2) @I 1) Goat 2) Rabbit
3) T 4) 73 3) Cow 4) Sheep
Q125) oeft v sy ST 2- Q125) :;v:ftch one of the following is not the part of
1) 9of vas 2) FegfRT 1) Lamina 2) Mid-vein
3) 91T e 4) 9o g=d 3) Sepal 4) Petiol
NMMS 2020 19 Contd.




Ao @
Q126) Gt § FiT e O FIIAT T G
HErayuT degteng AT ?

1) @re 2) arafafea
3) st 4) Frefiehe
Q127) 9& & ‘AgraRfaaior &gl g g3 ur?-
1) e 2) areErr
3) M= 4) AT
Q128) Wi\ aH i & -
1) 7R T 2) AGEAA
3) Fwfd = 4) URTIR THIAT
Q129) wftrs Rreye sfAeea &g §-
1) 3 e 2) fagr
3) 33T (30fs=m) 4) HeT W
Q130) e A7 WA H Aeg WAt ¥ A W
537
1) A 2) 3FaT
3) STER 4) eETRr
Q131) Fedt et v @ Py A v T e
1) RE - FAE 2) FERUT 9T -
et
3) HEHE MY - 4) IR-FFEH Ty
TS dlgre
Q132) e Sy &
1) F39 #em - 2) TS ZTETa -
3) TR AR - 4) Ao - st
Ay

Q133) wtﬁ’mz‘rm#ﬁmmm*m

Social Science

Which one of the following was the most

Q126)
prominent port of Indus Valley Civilization?
1) Lothal 2) Tamralipti
3) Bharuch 4) Kalikat

Where did Buddha get ‘Mahaparinirvana’ ?
2) Bodhgaya
4) Vaishali

Q127)
1) Rajgriha
3) Kushinara

Q128) Oldest 'Smiriti" is -
1) Narada Smriti

3) Brihaspati Smriti

2) Manu Smriti

4) Parashar Smriti

Famous Prehistoric Site Bhimbetka is located
in-
1) Uttar Pradesh

Q129)

2) Bihar

3) Odisha 4) Madhya Pradesh
Q130) Which Mughal emperor died of falling from
stairs?
1) Humayun 2) Akbar
3) Jahangir 4) Shahjahan
Q131) The battle of Haldi- Ghati was fought between-
1) Shershah - Humayun 2) Maharana Pratap -
Akbar
3) Mohammad Ghori- 4) Bab i i
onar ar - |
Prithviraj Chauhan ; i
Q132) Incorrect match is-
1) Kutub Minar - 2) i '
3~ Alai Darwaja -
Qutubuddin Aibak Allauddin thilji
3) Fatehpur Sikri - i
il 4) ;aj Mahal -
urangzeb

Q133) Sir Thomas Roe vis;i -
P , 0@ visited India i
1 3 ar 7 which Mughal Emperor 7 il
3) Sy 4) gt 1) Akbar 2) Shahjahan
3) Jahangir 4) Humayun
NMMS 2020
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g134) frrfafla # & #la fieslr woaeqa &

wrafoua g 47
1) q@TH @ 2) @St gor
3) AT AU 4) IS qr
0135) 1784 # @ vfRrafes Ara=dr Hr wugar
$r o -

1) ot fafezs S| 7@ 2) AFaaeR
3) Ylog AT TAetr A 4) w8 fafems dftw

Q136) 1942 # 8RE # i &A1 Aeer 3mar ar-

1) &fase Fee 2) ey e

3) @A AYe 4) 93 A
Q137) Mt 1T foREhT 39aT Teifas a8 A
- mm

1) @50 @es 2) TASh. TerE

3) HLHT, aH 4) S, M@

Q138) 1857 & YA FIAAT HITH F AT AT Fl
MEA FATH Fi AT?

1) @ &fFar 2) TS Ao
3) e R 4) W% RIS
Q139) 30 4 & 3Td FAAET F HEY Fgranedrer
F A9y i fwTaT 872
1) yure 70 2) ¥d &1 Tsgufa
3) wafew ~araTea &1 4) 36X 9eRT &I ASq9TS
A& Fararerer

Q140) Frearivr amerhr srorly i i Y 2 -
1) & Fgar BT 2) var. vH. g

G gfafa o
3) 3w, WEREr  4) gadd T Agar
wfafa & wfafa &
(9141) sy wifeer a7 e @ T AT & AT
e et & geafeua & -
R T 2) #mT - ||
3) s - v 4) 5T - IV

Q134)

1)
3)

Q135)

1)
3)

Q136)
1)
3)

Q137)

1)
3)

Q138)

1)
3)

Q139)

1)
3)

Q140)

1)

3)

Q141)

1)
3)

Which one of the following did not belong to
the Sultanate of Delhi.?

The Slave Dynasty  2) The Khilji Dynasty
The Mughal Dynasty 4) The Tuglag Dynasty

In 1784 The Bengal Asiatic Society was
established by-

2) Maxmuller
4) Lord William Bentinck

Sir William Jones

Surendra Nath
Banerjee

Which Mission visited India in 19427

Cabinet Mission 2) Crips Mission

Simon Mission 4) Wavell Mission

Who was regarded by Gandhiji as his Political
Guru?

B. G. Tilak
C. R. Dass

2) M. G. Ranade
4) G. K. Gokhale

Who was the Governor General in India at the
time of first war of Independence in 18577

2) Lord Cormnwallis
4) Lord Dalhousie

Lord Canning

Warren Hastings

Who administered the oath to the Chief Justice
of the High Court of Uttar Pradesh?

Prime Minister 2) President of India

Chief Justice of India 4) Governor of Uttar
Pradesh

Three tier Panchayati System was
recommended by-

Ashok Mehta 2) L.M. Singhvi
Committee Committee

R.S. Sarkariya 4) Balwant Rai Mehta
Committee Committee

Which part of the Indian Constitution is
Directive Principles of state-

Part-|
Part-VI

2) Part-ll
4) Part-1V

\‘___-_;
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Arfat@a TUH Q142) Who among the following was the first
) e i R S Governor of Uttar Pradesh-
ST AT -
1) fasraeesr afsd 2) Tg.U. Rbee 1) Vijaylakshmi Pandit 2) S.N. Sinha
3) \OfaE Ay 4) sfear ameh 3) Sarojini Naidu 4) Indira Gandhi
Hed ST AT Fgl Haedd 87 Q143) Where is the International Court of Justice
%) i b situated?
1) & 2) #qaTH 1) The Hague 2) New York
3) Steiar 4) aftw 3) Geneva 4) Paris
Q144) gargdy Ul @ AGTieaH HUR g- Q144) The Theoretical basis of Panchayati Raj is-
el STeic CIEGICEED 1) Direct Democracy  2) Democratic
Y ) ) Decentralization
3) wiehdfe 4) varHfas fashegrantor 3) Democratic 4) Administrative
e TEIOT Centralization Decentralization
Q145) yseufa &1 A= gar g- Q145) The President is elected for-
1) 439 & faw 2) 5 a¥ & faw 1) 4 years 2) 5years
3) 6 a¥ & fav 4) 2 a¥ & AU 3) 6 years 4) 2 years
Q146) s dfaus # frael Jgafaar 2- Q146) How many schedules are there in the
Constitution-
1) 8§19 2) 71B 1) Seven 2) Eight
3) gH 4) ¥1E 3) Ten 4) Twelve
Q147) Hafeag ~g@gg & el fr dar Rghr Q147) Tpe Judges of Supreme Court retire at the age
0 =
HIHE -
1) 58 a¥ 2) 60 a¥ 1) 58 years 2) 60 years
3) 65 a¥ 4) 62 a¥ 3) 65 years 4) 62 years
Q148) favg & fords AT & ? Q148) How many continents are in the world?
1) 5 2)9 1) 5 2) 9
27 4) 6 3) 7 4 6
Q149) fava & FwdEa # WA &1 # @ FE §7 [ Q149) What is the rank of India among the population
of the of the world?
1) dra 2) #igar 1) Third 2) Seventh
3) gEr 4) 39dad 7§ FE A4 3) Second 4) None of these
Q150) Arafafy gag Aofr & ga@ Far Pra §- Q160) The highest peak of Nilgiri Mountain is-
1) Fae S 2) Brger dcer 1) Kanchan Janga 2) Dodda Betta
3) 7% ey 4) 9RH AT 3) Guru Shikhar 4) Paras Nath
NMMS 2020
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7151) ST 2011 & HFARN 3.9. &1 foremgard &-

Q151) According to Census 2011 the sex ratio of U.P.
is-

1) 910 2) 911 1) 910 2) 911
3) 912 4) 914 3) 912 4) 914
1152) ST T HEEYTE HEUE (IISR) g #- Q152) Indian Institute of Sugarcane Research is
situated in -
1) o 2) HAY 1) Varanasi 2) Kanpur
3) 74 ool 4) qGAS 3) New Delhi 4) Lucknow
1153) FeAtaf@d A @ &I 79w FAr A Heras a4y | Q1563) Which one of the following is co-river of Ganga
s River -
1) T QA 2) wFater A& 1) Yamuna River 2) Narmada River
3) gl FA 4) aredr J4y 3) Damodar River 4) Tapti River
1154) e AR Ta F@l W @A ¥ - Q154) Where day and night are equal -
1) 738 ARBIA | 2) gat w 1) On Prime Meridian 2) On poles
3) figed W W 4) TIHfear T 3) On Equator 4) On Antarctica
2155) Efeer &r 82 Q155) What is Hurricane?
1) |5 ORT 2) &r 1) Ocean current 2) River
3) Fcd 4) Tshard 3) Soils 4) Cyclone
1156) 30X 9C3 F Fed 371 Few FiaT @ &7 Q156) Which is the largest district in Uttar Pradesh?
1) #ghar 2) FEARGY @rir 1) Mahoba 2) Lakhimpur Khiri
3) Ffew 4) FRIOTHY 3) Kushi Nagar 4) Varanasi
157) 58 saftyg & - Q157) Ooty is located in -
) &a A& 2) FAEE H 1) Kerala 2) Karnatak
3) 3auEve & 4) afAeaTg # 3) Uttarakhand 4) Tamil nadu
1158) Feamorsrdr s avga: fAeor ¢ - Q1568) The welfare state is essentially a synthesis of -
1) #5rEErE 3t 2) grFgare 3 1) Socialism and 2) Communism and
FFETE #5 s & communism Idealism
3) =fFqare iy 4) 3erare Y wATSAE 3) Individualism and 4) Liberalism and
w7 = fascism socialism
1159) UF Bl et fasr frenefier &y gofrar Q169) How many kilometers does a degree Latitude
% indicates?
D 111 e 2) 125 fam#, 1) 111 K.m. 2) 125 K.m,
%) 140 foraty. 4) 150 far#T, 3) 140 K.m. 4) 150 K.m.
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arforea
0161) zf2 (x*’ + j,)= 38, 74 ﬁfmﬁ#(ﬁ -1 )
X4 53
& A B
1) 234 2) 78
3) 324 4) 424

mez) 0125 + 0.027 @ HI &:

0.25-0.15 +0.09

1) 0.2 2) 0.25
3) 0.3 4) 0.8
q163) 7 x AR y fawer quiies & o Pefata #
Fa 7A QUi £2
1) x+y - 1 2) xy - 1
3) xy 4) xy + 2
Q164) Fww U9 # ABCD W& FRUGHS &l Ik LA=70°
g @ ~CDB g
F D (6
A
A B
1) 50° 2) 60°
3) 550 4) 65°

165) U ggeler & @it & 2:3:6:7 F AT &
IS FT HAgdH PIUT &
1) 40° 2) 140°
3) 120° 4) 160°

166) forstfaf@a & & #i7 @1 gaid TF 894 &7

1) x+1

- 2) x2 + 5ix + 1

3) x2 + /5 4))(24-_2_4-7
X

8)) Prfafea # Fta o arcafas dear T

CE S
" (0.008)% 2 L
) (0.01)1/‘*’ 4) (0.2)*

Maths

) = 38, then the value of (x3 -1 )

Q161) | (,(2 1
%3

x?
in the following is:

1) 234

3) 324

2) 78
4) 424

0.125 + 0.027 is:
0.25-0.15 +0.09

2) 0.25
4) 0.8

Q162) The value of

1) 0.2
3) 0.3

Q163) Ifx and y are odd integers then which of the
following is even integer?

1) x+y-1 2) xy-1

3) xy 4) xy+2

Q164) In the adjacent figure, ABCD Is a rhombus. If
/A=70° then ZCDB will be:

1) 50°
3) 550

Q165) The angles of a quadrilateral are in the ratio
2:3:6:7. The largest angle of the quadrilateral

is:

1) 40° 2) 1400

3) 120° 4) 160°

Q166) Which of the following expression is a

polynomial?

1) x+1 2) X2+ 5x+1

X
3) 2+ 45 4) 2 +2+7

X

Q167) Which of the following real number is largest?

1 (0.008)" 2) TgTo
3) 001k 4) (0.2)°

NN 2020
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Q168) uf% x &1 A, y ¥ A ¥ 25% FA & A9Y
F A, x % AT A ey yiaed #OH

gram?
1) 331% 2) 25%
3
3) 75% 4) 662%

Q169) guffer & aer F faw @ead @A &-

1) a+b = b+a 2) a+(b+c) = (a+b)tc
3) O+a = a 4) ax(b+c) = axb+axc
Q170) a7 4+, ER 6% affe e & 3 a9 9 6 a¥
& =TT @ g 3270 §, gm

1) 2450 2) 7600
3) 21000 4) 7500
Q171) eAfaf@d # @ #a & B 0.08 Fr

@sa #iar g
8 8

D 3 25
2 2

%) 9 Y 25

Q172) afe & FEAHT FT AR T AUTAFA FH:
12 3T 35 §, a9 39% qchAT T TRTH

grem:
1 1
)i 2) ¢
3) 12 35
) 35 45

Q173) fifofad # & et fawolt v s &

T FAT B and diagonals are same?
1) Tl 2) 4
: 4) TS 1) Quadrilateral 2) Pentagon
Q174) 2 ofat 1 v e )msma#‘ Weicy e
UF 6k H H
4 A AN AT | Q174) The Probability of getting the sum of numbers
i §: to be five in a single throw of two dice will be:
1)1 2)-1
6 18 1)1 2) 1
) e 3 41 ° 18
36
9 3 1 4) 1
36 : 3
NMMS 2020 e — e
Contd.

If the value of x is 25% less than the value of Y,

Q168) ercentage by which the value of y

hen the p \
zexieed the value of x will be
0,
1) 33 1 % 2) 25%
3
3) 75% 4) 663%
3
Q169) Associative Law for addition of integers is:
Hifanl= e 2) a+(b+c) = (a+b)+c
Yera=e 4) ax(b+c) = axb+axc

The amount on which the sum of interests of 3

Q170) years and 6 years at the rate of 6% per annum
will be 2270, is:
1) 2450 2) %600
3) 71000 4) %500

1) 8 2) 8
90 9

3) 8 4 2
99 25

Q172) If the sum and product of two numbers are 12
and 35 respectively, then the sum of their
reciprocals will be:

1) 1 2) 1
3 5
8) 12 4) 35
35 3

Q173) In which of the following, the number of sides

Q171) Which of the following fraction represents 0.08-

B e — —

[




176 4 fag &, TPT, O & a0 g0 & faeg P W £ Q175) In the adjacent figure, TPT' is tangent to Fircle, centered
- i i at 0, at point P, If ZRPT'=35" then /PQR is:
var ¢, 7t £RPT'=35° @@ ZPQR & ).
: T

—

1) 55°
3) 450

1) 65° 2) 35°
3) 45° 4) 30°

Q176) 2375109 # 7 & TAWT g FATAT AlA &l Q176) The difference of the place value and face
value of 7 in 2375108 is!

el &
1) 0 2) 6993 1) 0 2) 6993
3) 69993 4) 699993 3) 69993 4) 699993

Q177) @& O ¥ BE qUT 337 FEAT S 16, 18, gur |Q177) The smallest perfect square number which is
ivisibl 16, 18 and 45 is:
45 ¥ qoigar R @), ¥ divisible by 16, 18 an is

1) 3600 2) 900 1) 3600 2) 900
3) 720 4) 7200 3) 720 4) 7200
Q178) IR 3! $r 31 ¥ I GUT I HEAT & Q178) The largest perfect square integer of four digits
is:
1) 9999 2) 9801 1) 9999 2) 9801
3) 9000 4) 9016 3) 9000 4) 9016

Q179) er &= S U TT 3TTAT AT 8] &7 @ |Q179) Two coins are tossed together. The probability
of getting at least one head will be:
A U5 M g F T WiRhFHAT B =

n1 2) 2 1) 1 2
- )= ) 4 ) 5
3) 3 4) 1 3) 3 4) 1
4 4
Q180) gea 3 &, 0 #4g7 ABC & &% ¢ a2 OA=7 & [Q180) In the adjacent figure, O s centre of semi-circle ABC
R o e % If OA=Tcm then the area of shaded region is:
A(—T cm—>° B
1) 77 cm? 2) 49 cm? 1) 77 em?
3) 28 cm? 4) 84 cm? 3) 28cm?
"'-.-.___;
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